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Section

: General Knowledge

Q.1 Tdwdr gd YR & 9a9 uget _____ 7 fyef=ar ¥ di srauron w =R forar an

Ans

o 1. 31aT TS ARISH
7< 2. 91e1 TmeR foreten
< 3. TgrenT et
X 4. R 9 ura

Question ID : 2752288980
Status : Answered
Chosen Option: 3

Q.2 WRa 2021 # ergar _____ yareht wrdta s wamni

Ans

< 1. 14at
< 2. 10a
o 3.16a
X 4. 12a

Question ID : 2752288988
Status : Answered
Chosen Option : 4

Q.3 weIfR Algerg Rra dar v &2
Ans X 1. QR

5 2. fnetdia

2< 3. gfayor skt

F 4. TR

Question ID : 2752288983
Status : Answered
Chosen Option : 2




Q.4 YR S@faem o1 o a1 srgede iy eimuTe & aR # Susy § Hefda 8?
Ans X 1.358

x 2.322
< 3.340
& 4.360

Question ID : 2752288989
Status : Answered
Chosen Option: 1

Q.5 fafaf@a d @ w9 o yrRa f g po AaEa @2
Ans X 1.9u-2

X 2. a3y

75 3. 3rf=-1

o 4.ff

52288985
s : Answered

Q.6 AREa &IOS _____ g+ & grn Sian &l
Ans X 1.&d

2 2. IwT wfeEeT gufurdt
X 3. TEd
o 4. T

% Question ID : 2752288981

Status : Answered

, C) Chosen Option : 4
Q7 §@RUETRR_arer gl ~
Ans X 1.949 %

o 4.9
\ Question ID : 2752288979

Status : Answered
Chosen Option: 3

Q.8 frd 321 7 Hat 31k IR FiwT (FIFA) fagy a sfiar 82
Ans X 1.

o 2. SrSfia
X 3.3
< 4. SR

Question ID : 2752288990
Status : Answered
Chosen Option: 1




Q9 wIEFA RFHRF YRAA ___ # mam Tl
Ans o 1.1928
< 2.1937
7< 3.1933
X 4.1931

Question ID : 2752288982
Status : Answered
Chosen Option: 1

Ans X 1. ITRUSY

Q.10 ¥Ra & fore 5 7 ‘a1 Thet a1 TS Q.QH. ST RE Y 872

X 2. afaeETg
7< 3. sty v
o 4. B
52288987
1 s : Answered
gEoseg Option: 3

Ans X 1. fhels
2% 2. gfaor RiRar

& 3. Su

X 4. TR

Q.12 9 ZIRT «ifd fhy 1Y delde -3 ST
Ans X 1.291

o 4. 5T

i \<</
Q

Q.11 &<t ureié $3am 2021 # fore 321 J Tt & ofief T gridver foran 82

,\O

XN

0

*

Question ID : 2752288986
Status : Answered
Chosen Option : 1

T g?

Question ID : 2752288984
Status : Answered
Chosen Option: 3

Section : Numerical ability




Q.1 = & 7 efrent ota RAf= axgeil &1 s gea aur ey ufaera &t garidt 21

TE] | FT HeT | A%
A 450 12
B 1450 18
C 2250 25
D 3500 35
E 6500 45
F9 e x AW9%
ford g9 =% 11@+( 00 }

J1 = a%g AUt C o $e faspa g
J2 = a¥g D a1 E &1 gl fasha g7a
J2 = J1 1 A T &?

Ans X 1.124.85
o 2.10833.5
2< 3.12000
X 4.11797.5

Question ID : 2752289000
Status : Answered
Chosen Option: 1

Q.2 &HI Teh 1Y oht 5 R A & Tepelt @, Ordent It & Y 6 f & e Tenell & dur Afga I<ft ek
@Y 7.5 R F e Tera &1 Al & 39 &R a1y AR oea € 9T 8= 15000 FU <A1 T
fora sren &, ot frden =1 R o @2

Ans X 1.6000 30
X 2.5700 373
& 3. 5000 T
X 4. 5500 T7R

Question ID : 2752288998
Status : Answered
Chosen Option : 4

Q.3 fIrr &) ot et &1 uge u<t o1 oha g, T o) & faehg e & sR1eR g1 ugelt adt Rl 20
ufaierd & |19 UR < T @ 9T gE gt @t 10 ufaerd R g1 oR S man @1 ugeht <t & fasea
T T gt Ot 3 R e | T ST 87

Ans  # 1.27:25

X 26:5
%< 3.9:8
X 4.13:12

Question ID : 2752288994
Status : Answered
Chosen Option: 3




Q.4 U e it g auT @ 1 sHELRT: rguTd 3 : 1 81 af Iuht eima ot 25 ufdera 9 e sar
aUT = Y 40 ufarera @ e fRar StraT 8, a9t I 7€ T U7 Y T T HAA: AT =T

ghm?

Ans X 1.22:4
o 2.25:4
K 3.23:1
X 4.25:1

Question ID : 2752288993
Status : Answered
Chosen Option : 4

Q.5 &Y 3ichl Y Yeh TEAT AUT ikl Y IEeT-AgHT T S YT T I aTell T=am & ftr ot 3ier
63 &1 ST & &Y ekl & oftr T iR T @2

Ans X 1.5
X 26
X 3.8
o 4.7

Question ID : 2752288991
Status : Answered
Chosen Option : 2

E

Q.6 Ueh sFugeR o Sifehd Fea 85000 TU & aut 12 ufaerd ok k' ufaera 6 &t shamma ge & m g1
af wregex @1 fasra gea 71060 wud &, at 'K o1 |1 o 87

Ans X 1.2
X 2.3
X 3.8
4.5

Question ID : 2752288992
Status : Answered
Chosen Option: 3




Q.7 =2 Rar o gus R g g 5 auf & fAg gt dhosft A @ B gt fAfdfa Rl Y gt S &t

Zerfar &1
900
820
800 5
750
_—— 750
640
550 .
500 480
[ I T
2005 2006 2007 2008 2009
OA BB

J1 = g} ufg aut d soet A gr Rfffa &R 6 g dean ik @u B grt Afida &l fit e

& & o &1 3R

J2 = & 7 srafd F shueit A gwr FAfifa Rl 6 ofe o siaa den

J2 = J1 w1 AE T E?
Ans X 1.78
o 2.68
< 3.58
< 4.98

Question ID : 2752289002
Status : Answered
Chosen Option : 1

Q8 af¥p:q=2:3aurq:r=1:2g a1 2p:2q:rh A RTE?

Ans X 1.5:4:3
52.3:2:1
" 3.2:3:3
K 4.2:3:6

Question ID : 2752288995
Status : Answered
Chosen Option : 2

Q.9 Uk RAfYa Afr Fremror sarst wR 7 auf d 1400 Fud qut 10 auf # 1610 9 g St 1 AafA s/’

8?7
Ans & 1.91030

% 2.850 30
2 3.960 30
X 4.970 75

Question ID : 2752288996
Status : Answered
Chosen Option : 4




Q.10 Teh A <hr aRRATT 32 &4, @ TuT oS 6 Q.41 81 3mad <hr &5Tthed AT 27?7
Ans X 1.70@.2

o 2.60 Q02

2 3.50 @712

X 440952

Question ID : 2752288999
Status : Answered
Chosen Option : 2

Q.11 i3 & wft arferer ufa fafera wemsit A, B, C, D @t E & fog Iuftdd sl & siqufede sEl @
ST T F2ATAT &1

oI | 39tdyd :Hﬁqﬁﬂﬂ'
A 4:3
B 5:4
C E & B
D 372
E 2:1
afg e C # Sufeda o1l i Tt 110 g, af waim C fi et weear fhast 82
Ans X 1.60
o 2.160
2 3.150
X 4.75

Question ID : 2752289001
Status : Answered
Chosen Option : 3

- e

Q.12 Caur D & #em i gt 540 fr. . §1 geh gaaid Yot C & 9:00 galg w fAarerd! § aur 36
foh.=ft./eier Y nifey @ Terelt @1 ag IS I A 1 Her 20 e & g Fadt @1 3ol DR
3Tt i fore wvra wgafi?

Ans X 1.2:40 gafg
< 2.1:40 yaig
& 3.1:20 T
X 4.12:50 gatg

Question ID : 2752288997
Status : Answered
Chosen Option : 2

Section : General Aptitude or Reasoning




Q.1 uia et B1, B2, B3, B4 4T B5 aur uiw eieferal G1, G2, G3, G4 @yt G5 # & ufw el &l g
&w gt S &1 B2 aur G3 w1y 7 g4 ST Tnf@e 1 G1 @t B5 w1y # g4 514 @nfge ) B1 aur G5
1Y g g ST Fehd &1 G2 aUT B4 91U § g1 g ST Hehd &1 G3 T B5 91U # g1 g ST
Hond §1 F=fof@a 7 9§ fone wewal ot g=7 ST Heher 87

Ans  1.B1,B2, B3,G2 G3
X 2.B1,B2,B3,G1,G3
< 3.B1,B3,B5,G2, G4
X 4.B1,B2,B5,G1,G3

Question ID : 2752289012
Status : Answered
Chosen Option : 1

Q.2 A B,C,D,E, Faur G ara afh & ucdes & fafra Sard 81 dha« 3t aafwral fit S=md, D & sifdras
&1 B =g C aun F it Sars & a1fdres g1 E Y Sams G it Sard & sifdrans 81 A &t S=é D it
TS & & 8, AfR B it Fams & 1fres @1 F it Sard werdt 7 81 81 3R Sans & dedf A
Frafaf@a 9 @ «i a1 faseu 98t 87

Ans # 1.E>G>D>A>B>F>C
&K 2E>G>D>B>A>F>C
K 3. F>E>G>D>A>B>C
X 4E>G>D>A>F>B>C

Question ID : 2752289011
Status : Answered
Chosen Option : 2

E

Q.3 Uk geRH foar war &, fad @ ues ug e g1 Re g Rl 7 & 39 7eia ug w6t gfAwl
24, 40, 54, 64,76, 84

Ans # 1.64
X 2.84
2 3.40
X 4.54

Question ID : 2752289014
Status : Answered
Chosen Option : 4




Q.4 ol v & Ry g Reveat 7 @ uer g (?) & T W o et & 6t gfAgl

16 | 21 | 18

3 10 | 17

12 |31 | 16

116|179 | ?
Ans  # 1.290

< 2.308

2 3.260

X 4.242

Question ID : 2752289017
Status : Answered
Chosen Option : 3

Q.5 f=faf@a usr d & 7 sigen 7 @ o siw w9 Hifsigl
4,9,20,7,90,185

Ans X 1.42
o 2.43
< 3.45
X 4.44

Question ID : 2752289015
Status : Answered
Chosen Option : 4

Q.6 Uk fafare sris v &, ‘DIAGRAMS' &t ‘MRWUAFEG' forat SiTdT 1 §9 hlS uTeT &
‘NUMBERED'’ <h1 <hlS <RIT 87

Ans X 1.XJNGURQQ
2< 2. QQRUHNJX
2 3. QQRVHNJX
" 4. XUNHVRQQ

Question ID : 2752289009
Status : Answered
Chosen Option : 2

_

Q.7 ot usr # Ry g Rereat 7 @ w6l srari &t gfAgl
UT:YY:ME:?
Ans X 1.RI
" 2.QJ
< 3.RJ
X 4.ql

Question ID : 2752289006
Status : Answered
Chosen Option : 3




Q.8 U rgerw far war 8, ad & gor ug wea 81 g g fepeul A & 39 wea ug w6l gfAwl
A1, B4,D16, H64, P324

Ans X 1.A1
X 2.He4
2 3.D16
o 4.P324

Question ID : 2752289004
Status : Answered
Chosen Option: 1

Q.9 e ergeRd e e @, forad @ ua ue g 21 Ry 1y Rieredt & @ ag vt Revew gfg, st
STTehH Rl QRT |
KTB, IVZ, GXX, EZV, ?

Ans X 1.CBU
< 2.DBT
< 3.DAU
& 4.CBT

Question ID : 2752289003
Status : Answered
Chosen Option : 4

Q.10 =9 it IR ATRfA uer frepfar & ufasu &t grr wf1?

75|17

AV [AA

73]
< [T
o[
S
< [T

TIMEYS

Ans

Question ID : 2752289019
Status : Answered
Chosen Option : 2




Q.11 fF=fofae ver d Ry 7y Rereat § | faws sier/sieRt & gl
Ans X 1.LS

X 2.MT
o 3.VD

X 4.cJ

Question ID : 2752289005
Status : Answered
Chosen Option : 4

Q.12 ek 92 °-1 ol fAudia weten! & gl WR ahie, it AT Sret S @ I @1 39 94 Y ud 9iel
TR ‘N’ SheTd T 7Y & 9T 64 B1¢ 8- uTd fohg ¢ 8| Fafaf@a & @ i a1/@ &u= 9t a8t
&/8?

L.'N' &TaA 481
II. ¥F a1 fA=Teht Gor FeTeh et §, Gk Bk o1t & a1 9t 311 thereh it g€ 781 8, ot S 8
2l

Ans X 1.%adll

& 2. 1 aur |l @t
3. Fad |
Koaagiag

Question ID : 2752289020
Status : Answered
Chosen Option : 2

Q.13 F=faf@a ust & & 7 sjiwen § @ qu sics 74 Hifsigl
16,18, 21, 26, 33, ?

Ans  # 1.44
X 2.45
X 3.42
X 4.46

Question ID : 2752289016
Status : Answered
Chosen Option : 3

=
Q.14 ue fafre st wran &, ‘DELHI &t ‘HIPLM' forar Sirar &1 59 sl 9ot & ‘RAMAN’ &Rt i em
8?7
Ans X 1.VEQEQ
«" 2. VEQER
25 3.VDQDR

7< 4. VERER

Question ID : 2752289007
Status : Answered
Chosen Option : 2




Q.15 uek fafre sie wrar A, ‘Health is wealth’ @t ‘# & %’ forar stmaT &, ‘Happy man make wealth’ @t
‘4 + * +' forEm ST §, ‘Good Health make happy’ @t ‘+ $ * # forar ST @1 39 whie v & ‘Good
man health’ =T &Y< =T 8?7

Ans X 1. #++
K2 %#+
X 3.$#a
o 4. +#S

Question ID : 2752289010
Status : Answered
Chosen Option : 3

Q.16 Wer fafre st wrar &, ‘PLACE’ & “1115262422' fora Sirat &, ‘MIND’ &t “14181323' forar sirar
2139 shis 9T & ‘VERBAL &1 i< o &2

Ans X 1.5229242615
X 2.5229242515
o 3.5229252615
X 4.5221825215

Question ID : 2752289008
Status : Answered
Chosen Option : 1

_
Q.17 A Ry g usr & o U 3R I a1 39 HYT W) e o ey Ry e &1 Rg 1y
HYH! ht TSt A, TG I8 THT 14 a2l S aar gt 9t fAsrd o2 oz i fRufRa &2 6
g g == & A, g 1@ et & omuR wR gesTa 1

<hY:

l.FB P Q3!
Il.asftQ, T&I

fArertd:

LFsT,PE
LA PTEl

.5 P T &
Ans X 1. %ad et (1] STEROT T &

o 2. had (hT | ST RO e
< 3.2t e | T Il STgRRUnGhRd &
< 4. 31 sl T 11 SIgERoT Shed &

Question ID : 2752289013
Status : Answered
Chosen Option: 1




Q.18 frah ORI T & FeH 2 M WS &7
26 /LW
/ZM \m

14
18
\2A
{ds

Ans X 1.26
% 2.30
o 3.12
X 4.21

Question ID : 2752289018
Status : Answered
Chosen Option : 3

Section : General Science

Q.1 ufasr ZRT 34 gidt 81
Ans o 1. ST

< 2. farsmog

X 3. icstan

< 4. haeh

Question ID : 2752289033
Status : Answered
Chosen Option : 1

= _

Q.2 mwha;uﬁa?hﬁﬁwﬁ@a/é I} geaTd oft T g gendt €7

1. et S @) Fehelt @
II. &1 & e g Gepan
lll. Tk A9 I Hehell

Ans X l.lqarlll
X 2.
X3 laull

y

& 4.1 11l

Question ID : 2752289031
Status : Answered
Chosen Option : 2




Q3 frmra____dwifaagandl
Ans X 1. ggai

< 2. Iy

X 3. gt

o 4.99d

Question ID : 2752289036
Status : Answered
Chosen Option : 4

Q.4 urpfaes | — ot o1 FAfaf@a A & o9 a1 g adt 82

. sl — TéRer et
1I. A< AT S — AASTES S

Ans X 1.%adll
X2 mgag
X 3. aal
o 4. | qr Il gt

Question ID : 2752289030
" Status : Answered
Chosen Option : 4

Q.5 fA=faf@a d @ i g iel o ges aif &2
1. Seftehrger .

1. sTatRTgeT \
Ans X 1.%ad | , \/

o 2.1 Tl gt (b

X 3. da i

Status : Answered
Chosen Option : 3

XA Tglag 0()
C Question ID : 2752289038

Q.6 fF=fafEad @ w9 w Hu= ?

Ans X 1. g9R IRISIR Fi SIQ 71T &1 Y argHe T &Tel ehgl STdl §
o 2. % 397 1Y Tl R ARt R IS are e et §
2% 3. ufd Qehich &thel UR @7 dTet & i 319 hgd &
X 4. fonelt a¥g IR T ITel I IUch 91y HUeh A ST TR A7 FehdT &

Question ID : 2752289025
Status : Answered
Chosen Option : 4




Q.7 @4l & aREmRuraTd g &
1. &R
Il. gea

Ans o 1.1 Tl Gt

X 2. Fad |
X 3. &
KA agagi

Question ID : 2752289037
Status : Answered
Chosen Option : 1

Q.8 uvur & e A FAmfaf@a d & o= o7 Heiv wgt 87
Ans X 1. 9df > defis > Wids

< 2. W > eAtefAew > df
< 3. Wifaw > gdf = diefas
o 4. Qs > gdf > defie

Q.9 #Tg Tl & g srea Y gy o1 TR T Hz de &1
Ans X 1.20¥2000 * O
7 2.200 % 20000 \
 3.20@ 20000 \,

< 4.200& 2000 (b

UQ : 2752289024

Status : Answered
C n Option : 4

00

Question ID : 2752289021
Status : Answered
Chosen Option : 3

Q.10 fonet miefig gt i wiera f___ g
Ans X 1.1/4

x 2.1/3 \

X 3.1/8

o 4.1/2 \

Question ID : 2752289023
Status : Answered
Chosen Option : 2




Q.11 A=fafaa d @ F9 a1 FuT a9 8?
|. WeRTST IR 3@T # 0 AT 2l
1. gfvr-wRTed A g6 e ufafde e gar g1

Ans X 1.%adll
X2 aglargl
X 3. Fhad |
o 4. | qrll gt

Question ID : 2752289026
Status : Answered
Chosen Option : 3

Q.12 fisrudofqureu st & Ggradr a=ar g1
. ek &) T R 31 dear i g @t A
1. I & vepran & forg wuf 70 e

Ans X 1.arg ATl
X 2. %adt |
o 3.1 qr Il gt
X A4Sl

4

Question ID : 2752289035
Status : Answered
Chosen Option : 4

Q.13 fA=fafEa d @ a9 9/ a= gl 8/8?
1. 3T & UTg: AT AT R TAFIER gl 81

II.ﬁﬁﬂmmmﬂ;wﬁm%ﬁmﬁwﬁmmﬂiﬁm@ﬁaﬁﬁl

Ans X 1.%adll
X 2. % |
X3 aglagtl
o 4. | qr Il gt

RY,

Q.0

4

Question ID : 2752289032
Status : Answered
Chosen Option : 3

VAN

Q.14 HIROT THeh T Ik T T gieT 87?
Ans X 1.Nay0

#< 2. NaOH
" 3. NaCl
#< 4.NaOCl

Question ID : 2752289029
Status : Answered
Chosen Option : 2




Q.15 UTeY SHedh ed: UK & gid &1
Ans X 1.6

X 25

& 3.2

X 4.3

Question ID : 2752289034
Status : Answered
Chosen Option : 2

Q.16 geaHT Hw&Ar =

Ans o 1. S ohl T + Ue! &t TwEr
25 2. e Y e + =gghAt B T
7€ 3. v fr e
< 4. =ggrat &t T

Q.17 @feram Y datsterar @ &2
Ans X 1.3

& 2.0

731

XK 42

@ Question ID : 2752289028
C) Status : Answered
Chosen Option : 1
Q.18 fA=fafaa d @ o= a1 ot a8 82
Ans o 1. 3ot il Ity Hr

X 2.vand nfasfa & g Y TfT 3wt (mv?)/2 gl &
X3 15E=1 1 e

< 4. et e agr Eapicai
K Question ID : 2752289022

Status : Answered
Chosen Option: 1

Section : Domain Knowledge




Q.1 1000 W 3fFE A T 5% 39T IR F TY v AT F IROF TT T T AT TF FEUEF T
= #11 sHHT TEafas AW H€ET Shder 2ei?

A X1 900 W it 1000 W F &=
<2 900 W 3T 1050 W & &=
v 3 950 W 3iiT 1050 W & &=
X4 950 W 3T 1000 W & &r=r

Question ID : 2752289042
Status : Answered
Chosen Option : 3

Q2 = 3 o fevewdr #, T = ST (WFF 39) 300 sin 100 nt FeT ¥ FEF 3IEYE Aeer
gt

Ans 1. 9554 V
X2 150 V
X3 314 V
xK410252 V

Question ID : 2752289098
Status : Answered
Chosen Option : 1

E

Q.3 200 mm @S FTET UF =EH, 20 A T U TEF AT § AR 0.9 T HEEE (FeEw) O a8 U
TEHIT &7 & TEH W BT §| Ao | T grem

Ans X1 1.8 N
X2 36 N
390 N
v 4 3.6 N

Question ID : 2752289069
Status : Answered
Chosen Option : 3

¥ Srafafae Teed & ¥ #i9, AeEWRET @ T &R 27
o TR, T (@A) T e e E
X2 U HI AEH Hodl HYel Hgelld gl

x 3 7 faafa wooe $r g s war g

x4
THH THIUF FO Ad 8, o H ¥ IoiF & UHIas SHE @ §hd g

Question ID : 2752289056
Status : Answered
Chosen Option : 4




Q5 ofy v Feer & 20 Als T TREfdT U, gEd FEa & 50 mV @1 EMF 9Ra #xe §, o @t
TR F AT I EeE = Eem?

Ans X1 1 mH

X210 mH

<3 35 mH

v4 25 mH

Question ID : 2752289071
Status : Answered
Chosen Option : 2

Q.6 F FEoEs (TARTE) HT Agad & a1 T TANUT AedH H e 9iEe 1 & F 7

# qifvanfaE T =T 2

Ans 1. 938 &
X2 g (Ied) &
X3 TR T
A v

Question ID : 2752289065
Status : Answered
Chosen Option : 2

_— ===

Q7 afy v Tegaag a1 o 756 ¥ i WETdd @ §, d sEeiia T $ ane s
B gl

Ans AU
X1 Ap=—
C

AU
C

AU

24U

Question ID : 2752289074
Status : Answered
Chosen Option : 4




Q.8 2 wwe L, =20 mH 3T L, =40 mH 38 &R Avima & waifeT § % s9e Saged 9tehes 50 mH
&1 =T FEort F A T S grm

Ans X110 mH
<2 20 mH
X3 15 mH
v 4 5 mH

Question ID : 2752289079
Status : Answered
Chosen Option : 4

Q.9 R 397 9T 80 mm SIS T AAF 0.5 T HFGEE I=ca aTel T JaehId &7 &1 Fieem, alg
o 8 V Regdaes s@ (EMF) $Ra fFar amar &2 (7 & =mess, &7 st ofy i R,
ITafE dEaT B)

Ans 1400 mis
<2 100 m/s
<3120 m/s

« 4 200 m/s

Question ID : 2752289070
Status : Answered
Chosen Option: 1

Q10 The collector current of a class C amplifier is
Ans 1. square wave

X 2 sine wave

« 3. half sine wave

X 4. pulse
Question ID : 2752289086
Status : Answered
Chosen Option : 4
- -
AN B gfeme ek & T ~Fas AT 1 AT (T A6 NeFe) e A B

ZE=XRY+XY +XY
s g1 Z=Y +X

X2Z=Y +X
K3 L= Y N
XaZz=Y + X

Question ID : 2752289092
Status : Answered
Chosen Option: 1




a1z T FR F1 RfSes Higew @ ¥

%X e (aTeE) ATEeE

X 2. HTHTH HIgo

X 3. gfed ATger

v efea fpamem gt

Question ID : 2752289061
Status : Answered
Chosen Option : 3

O v ae we AT B EE # e G T

. d®@g
_‘# B-dl=p,i + JU'DEUE

A X ofpaer 7 9ftoy FT B
X2 Hzgae & FaH
xaiﬂﬂﬂﬂﬁmaﬂﬁw

v 4 oiPqar-HFgae &1 Tam

Question ID : 2752289072
Status : Answered
Chosen Option : 2

U e rTieE ¥ Tev & T8 FUT F 99U HSw)

v e Rrue & sefer & oy e gy i ¥
x 2
Foll ETTS &, Hged F AT TG gh g E
x 3.
FoT FuTa #, gfed & WY IEERER FA T gl

X 4 e faTuTda A, g & Ay & FAT gar gl

Question ID : 2752289096
Status : Answered
Chosen Option : 2




Q15 Crfafee Rt & & Fi W gaur (@R ) aFw & o g 2
Ans 1.
TEFAT, YU F T 9UT TR ST & Tufdes W e g E

x 2
e Tg (3M3eTE ToW) F FIA % FE & B o O oS W TSNS A S T 8

x 3.
aftaer @ Bemea T a2 ¥ 3k aee w5 e
x4
FAYE Tohd, FAT H IREfdT & Jrar § O@ sifiga st wwe @i gl

Question ID : 2752289048
Status : Answered
Chosen Option : 4

==

Q16 sz effme g7ar & o Aeath & N TAGET TRTY H P e vy grt

Vi

a
_8 y,
1 kg W 2kQET 10kQ =
2 cos(mi)

a’

b

Ans 1. =120 cos(wt)
x 2. 160 cos(wt)
X3 20 cos(wt)
v 4 =320 cos(wt)

Question ID : 2752289091
Status : Answered
Chosen Option : 3

= _

Q17 fpeafeir @ Terw & g e 87 SETST G8RT e TANCS &1 T f&ar sar 32
Ans X 1. 100 kbps

x 2 40 kbps
+ 3 10 kbps
X 4 20 kbps

Question ID : 2752289064
Status : Answered
Chosen Option : 1




Q18 gv5 garr ot HewiSwr Fr Rufy # 3w 75 W TEHEEAS: AT Hegageda o @ e

Tfewr e g

Ans I
w1 P=-
C

21

K2 P=—
C

2

X< 3. p=£
c

If-.’.

K4 P=—
C

Question ID : 2752289077
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Chosen Option : 4

Q19 Srfafee & ¥ Fi7 @ Rewew, Sradt 99 & Feaed #1 v Rowar ad ¥
Ans a1 mﬁmﬁﬁﬁ%

X 2. Qrepicish SATST 9ehAUT F o

X3 HAAET SFAT H 3eaia

v 4 AT FT HTYOT F IR

Question ID : 2752289051
Status : Answered
Chosen Option : 2

_

Q20 v 10 pH FEer S 9T 20 0 &, 77 101.4 pF TF TRESAT TUONT T TER FH F THT
¥ QI T

Ans X1 25.2
v2 15.7
X3 125
X4 60

Question ID : 2752289084
Status : Answered
Chosen Option: 1




Q.21 coefficient gives the relationship between the electric field intensity and transmitted waves to the incident

wave in the medium of erigin.

Ans X 1. Signal attenuation

« 2. Fresnel reflection
< 3. Field reflection
X 4. Free space

Question ID : 2752289081
Status : Answered
Chosen Option : 2

Q.22 Al the static performance characteristics of measuring instruments are obtained by
Ans 1. measurement

« 2. calibration

< 3. accuracy

< 4. resolution

Question ID : 2752289039
Status : Answered
Chosen Option : 1

E

B yafafRe # ¥ FiF o ey 99 7 0w TR 18§

e o fefrdr s
X2 el g7

X3 gE s

X4 TZH T

Question ID : 2752289055
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Q24 vz sreear Renes ooy Rar ar ¥ BwH R, =R, =R, =10k ¥ R, ¥ 5@ 77 ¥ R

Ans

v, < 1V grem?

VWV
=
o

ANAAR
AAAAA l
+

=

R

vy
S

R,

ARAAA
YYVYyY

AMAM
AL

Ry =

32
X1 >—V
3

X2 >12V
3 ‘.:»M}I-‘r
3

X4 >10V

Question ID : 2752289089
Status : Answered
Chosen Option : 3

Q25 The gain of a transformer coupled amplifier is

Ans

I) low at low frequencies
II) low at high frequencies
IIT)  constant at high frequencies

# 1. IT and IIT only
X 2. Tand IIT only
+ 3. Iand IT only
X 4 Ionly

Question ID : 2752289087
Status : Answered
Chosen Option : 3

.26 \ *
0 T T wE FIHI HT Teh 3ETEI0r &7

Ans

X 1. 3com palmV

X 2 Bf3ea stewr (Digital Alpha)
v 2 |IBM 819 = (IBM Deep Blue)
X 4 A Hedl (Sun Ultra)

Question ID : 2752289052
Status : Answered
Chosen Option : 3




Q27 o wfEnfaT &1 gege wferiy 400 0, ¥= steE 6 MHz 3 @9a 20°C ¥ e @ Sreear
et ST o BN 1.38x% 10728 J/K e T #

A 1 532 pV
X2 6.64 pV
w3 4.48 v
X4 224 pv

Question ID : 2752289083
Status : Answered
Chosen Option: 3

Q28 yyhat is the role of the rectifier section in an electronic multimeter?
Ans X 1.

It limits the magnitude of the input voltage to the desired value.
« 2. It converts an AC input voltage to a proportional DC value.

X 3. It provides the capability of resistance measurement.
x 4.

It selects the various measurement functions of the instrument such as voltage, current or resistance.

Question ID : 2752289047
Status : Answered
Chosen Option : 2

E

Q29 =fr vs Frges (Beer) F 10 kHz #7 60 dB Tg-=isis 3 4 kHz &7 6 dB wgr=isi &1, & I
pleey &l

Ans o . 15
X2 4
X3 2
V425

Question ID : 2752289085
Status : Answered
Chosen Option : 3




0% o aw ofiger & 5 0 9ftRE ¥ YR ORT | A9

Ans 1095 A
<2155 A
X3 075 A
X41256 A

Question ID : 2752289090
Status : Answered
Chosen Option: 1

Q.31 Anair cored coil has a self-inductance of 10 mH. If the number of turns of the coil is double, keeping the length and
area of cross section of the coil same. the self-inductance will be

Ans 1. 10 mH
<2 20 mH
X3 5mH
« 4 40 mH

Question ID : 2752289078
Status : Answered
Chosen Option: 1

Q.32 oefafEe § & &9 a1 U9, EBCDIC (vFaiss asAl #1835 :ffAe sewe #15) ¥ waria ag &7

v zEd 32wl B E

x 2

I S & e w3 wwar gfaw (AR Re) 7@ @
X 3 THH FTHT T T ASCI & FAA 2T &
X4 7g wF 8-faT FIT FFAF B

Question ID : 2752289062
Status : Answered
Chosen Option : 3




Q.33

is a unit of magnetomotive force.

Ans X' 1. Newton

X 2. Ampere-meter

« 3. Gilbert

X 4 Wbm?s—1

Question ID : 2752289068
Status : Answered
Chosen Option : 4
Q.34

Ans

frrsfafea & & #iv 1 i, #iw % w1 fig woe g 82
¢ 1. DivD = pV

Q
R (4‘1]:1‘2) 3
: P
- DivD=—
X 3. Div o

X4 DivD=Ap

Question ID : 2752289067
Status : Answered
Chosen Option : 2

Q.35

Ans

Which of the following is not a primary souree of external noise?

X 1. Atmospheric noise
A 2. Manmade noise

K 3. Extra-terrestrial noise

+ 4 Thermal noise

Question ID : 2752289059
Status : Answered
Chosen Option : 2




Q36 R gfaerr amem T OR, TF EMF 819 E ¥ S0 &1 9oiiue & Aead ¥ yaed 3E,
Q=at-bt> F T & FMHT g IR F FEiE Fwar e g
Ans X_IEIE_R
3b
bR
6a
a*R
6b
bR
3a

x 2

3

Question ID : 2752289097
Status .. Answered
Chosen Option : 2

as7 sfarter A $r Taw 7é% Bf ¥
Ans X1%'@?-I'

v FIeE ¥
X 5. Hewaer Ag
X o AT B

Question ID : 2752289045
Status : Answered
Chosen Option : 3

Q38 xfamor st Rt waE F dew F Pemfafde # ¥ FF @ wue e 2
Ans X 1.

X-fasrott 3l 33 a5 gt & Regagsdr a@r e €
x 2
X-farott 1 gerr 7 W aE F qwEeed #oE g 2
x 3
AT @ i gerem 7 X-FHron @ angfea e g 2
o 4.

I @ B g F X-FRon Fr 9 wfow g gl

Question ID : 2752289076
Status : Answered
Chosen Option : 3




Q39 Famt FmTam 200N TR e F AT g e M A w0, draw _ @em
Ars 1. 50 N

<2 400 N

<3 200 N

<4100 N

Question ID : 2752289066
Status : Answered
Chosen Option : 2

Q40 The first generation of computers was based on

Ans X 1. transistor

X 2. VLSI microprocessor

+ 3. vacuum tube

X 4. integrated circuit

Question ID : 2752289050
Status : Answered
Chosen Option : 2

Q41 is a time over which a call may be maintained within a cell.

Ans X 1. Queuing time
X 2. Cell capacity time

« 3. Cell dwell time
< 4. Guard time

Question ID : 2752289063
Status : Answered
Chosen Option: 3

_— =

U rafafes feedt ¢ Fi qEecaegar & @ aRwmT 37
Ans X 1.

T IfET A T goar 7 5TH0T Hr Aewear w1 TR T

x 2
TE TH IIHUT F ARTEoH Jedr § T F FR g
3.

¥ Saiw, HSRUTaR, A9 Sl e # ofEds g € @9 98 T $9E & fov aeege
qrSaRr B foreRear 2

X 4

1§ T TIE AT AT & ENE WA A9 SN SO T ST g, 99 9§ HISEYE TEie ar
forRear 21

Question ID : 2752289040
Status : Answered
Chosen Option : 3




Q43 e & SN AT F TS T H A &, IHIE HF el S B
AN X g (FrAT)

X2 Heoea wEE

X3 guTg &

v 4 Pere

Question ID : 2752289082
Status : Answered
Chosen Option : 3

Q44 e dHreear e 9Oy REm T ¥ WS V= 10 VAR R, = 1kQ &1 R, F FFE A9 ¥ B o,
V #T 10% gem?

Ans x 1. 10 kO

Question ID : 2752289088
Status : Answered
Chosen Option : 2

Q.45

L ninw“c.{ Fr = ECED TBarsT = 3eTET0T B
S e

X2 far

X3 gERA

X1 SroEet

Question ID : 2752289053
Status : Answered
Chosen Option : 1




Q46 frafefgs & & #i9 o o 77 3F = & B o o7 Jle e & g = B
=T 45 iz (dsfasy), == s Saee it wEfT o (Figeee) FRa FEfa & AT
1 2 7 1

Ans x 1. % ﬁ' g ﬁ
X2 g R
V5 e Tam
X 4 JURRHA (TieeH) FuH

Question ID : 2752289060
Status : Answered
Chosen Option : 2

Q47 is a type of large-scale fading in wireless communication.

Ans s 1. Shadowing
X 2. Doppler spread
X 3. Frequency selective fading

X 4. Flat fading

Question ID : 2752289080
Status : Answered
Chosen Option : 3

Q.48 which of the following is NOT one of the four [evels,_of_measuremem standards?
Ans X 1. International standards

# 2. Primary standards
X 3. Working standards

« 4. Zero standards

Question ID : 2752289044
Status : Answered
Chosen Option : 4

O Feget Fr IEd O Fr S PR F ¥ ST @ ¥

Ans X 1. 1946-1959
< 2. 1959-1965
« 3 1965-1971
< 4.1971-1980

Question ID : 2752289049
Status : Answered
Chosen Option : 4




Q.50 register in a PC holds the address of the location to be accessed.

Ans 1. Memory program
X 2. Memory data
X 3. Memory execution

« 4 Memory address

Question ID : 2752289054
Status : Answered
Chosen Option : 4

QST ofyrr &7 & 3799F 9T F FgeT A ¥ farw grea R e ¥
Als X1 Vpe =0

X2V =0

X3V, =0

4 Ve =0

Question ID : 2752289095
Status : Answered
Chosen Option : 4

Q.52 The clock tick interrupts, which wakes up the processor from a halt state and allowsithe sqhedu'}er'to pick other work to
perform, is an example of

Ans s 1. Software interrupt

X 2. Page fault interrupt
« 3. Internal interrupt
X 4. External interrupt

Question ID : 2752289057
Status : Answered
Chosen Option : 1




Q.53 few a1 Ry 3kt saqe Rvaer & R, Gy v et #§ & wEeqe & w9 H

afyoer;
R4 B

Vour

Ans V

VAL .

4

1
X 4 % " 2‘A i

Question ID : 2752289093
Status : Answered
Chosen Option: 1




Q34 e ¥ argEse € SO0 T W SRR WY # gAg-Aead R g g
X0 A

X 2. e TR

v\ fares

x4 ﬁ?{ﬂ?@ﬁﬁ'&' F=ricy

Question ID : 2752289075
Status : Answered
Chosen Option : 3

B BT F AT aFmAFT098 L, A AT 2em
Ans 51 49

X2 120

X3 51

X 4. 101

Question ID : 2752289094
Status : Answered
Chosen Option : 3

= =

Q.56 Teafafeg # & &7 @ RAID (REde of 3ite sRYse Rew) T, 87 g & 3900 & &,
AT FE off Tehel 359 U NFls T Fohar ¢ 3T T7 o7 FEE (I3 ) F R sfeafta
(3=TreE) /0 F 3TN F AT & E

Ans 1. RAID 4
<2 RAID 3
~<3 RAID 0
~< 4 RAID 2

Question ID : 2752289058
Status : Answered
Chosen Option : 4




Q.57 frfefea & @ #i7 o Rees o Tl (9R) R F Seeded & 5F 3@ @90 # veH &
e FA E?

Ans 1.
o = ifp Rewer > weRclt Algerh > AC WaHw > Fadl RAgek > e TR s > DC
wafiT olp
X 2
o TR ilp v > Tt REges > AC wEdw S Twd Agew > e 9RE feies > DC
=i olp
X 3.
o T ilp e > Fedl FigerE (IR Algoey) > e 9N Brdes (W 99 o) > dwdt
famTgee (AR fEATgeeT) > SeaEdl o EuE (AC. TEeN) > v am (DC) YafEa ofp

x 4.
o1 TR ilp feee > et Algew > Twdl RAsas > e i fedes > DC wAfda olp

Question ID : 2752289046
Status : Answered
Chosen Option: 3

E

Q.58 &1 sxe fre To-3%es 80 mH R 60 mH &, TARIR F4 F HATHS & Fhw 1 GAGA
YT 48.75 mH &1 3518 3=d1eT Uehca I 0T @il

Ans - x1. 25 mH
+ 2 30 mH
X3 456 mH
x4 225 mH

Question ID : 2752289073
Status : Answered
Chosen Option : 1

Q.59 & 1 T &, 7= aOEe T § v wEaw aEd F 3 0 9 A S HenmT w0
IIHIOT F ATA HT GG T IO F

TR (Q) amA= (°C)
200 100
205 150
210 200
215 250

Ans X 1. -IU Muc
v2 0.1 ORC
X3 05 oy°C
X4 0.9 Q°C

Question ID : 2752289043
Status : Answered
Chosen Option : 4




Q60 sumwor & sIee & TREAH HN FAGE F WadT & Hagwa A FET ST ¢

A X e (Reieee)
v 2. GIgar

X s GETSEAT
x4 Tyt
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